EECE 340-Signals and Systems
Homework # 4

Problem 1

Consider the unstable system whose transfer function, H(s), is given by:
-1

s(s+1)

His)= -l<o<0

(2) Determine the impulse response of the system.

(b) Determine the differential equation of the system

(c) Determine the Direct form I and Direct form II block diagram
representation of the system.

Problem 2

Repeat problem # 1 for the causal system with transfer funcion given by:

~ 6
C(s+2)(s+3)

Hs)

Problem 3
Repeat problem # 1 for the causal systems with transfer functions given by:

His)= 2s+3
(s+2)(s+3)
and H(s)= 2543

(s+2)(s+3)(s—1)°
For question (a), use partial fraction expansion and also the Laplace

inversion formula.
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